1998 3

(a)

(10)
( 710061)
Design of Induction Heating Equipment( 10)
Tang Jingming
-5
o= (147)
<
, 22 - 1
0.4 40U m k
0.4 0.84m 0.8 40pm A Hm; Ty K
C. G
| T ? 2
% = Co Too k) (m?- h) (148)
“Co =20kl (m?- h- K)
Q1Q1
, Q2 , Q3 , :
Q=01+ Q2+ Q3 ' )
Q : q= c[l—g'éJ K/ (m?- h)  (149)
Q1 Q2 O3
+ + =1 146 ‘C=¢£C
2t Q" a (146) 0
(146) ,
A+R+D=1 e =S
Co
Q0 R =2 9
Q Q
oK
;D =
Q
: C
A=1R=D=0, C .
: c/kl- (m?-h- k1
R=1,A=D=0, 0.8 2.1
D 2.1 8.3
= R =0, 12.5 18.8
14.6 18.8
, 15
16
C=17k¥ (m*- h- K
a (b)

41



1998 3
9
T/ € T/ £
1.0 22 0.937
0.95 22 0.924
24 0.96 19 0.897
40 370 0.93 0.945 225 575 0.039 0.057
20 0.932 26 0.055
20 0.93 600 200 600 0.11 0.190
100 0.83 425 1020 0.144 0.377
1100 0.85 100 0.736
1100 0.75 925 1115 0.87 0.95
() 1100 0.83 0.87 770 1040 0.52 0.56
() 1100 0.72 0.76 940 1100 0.55 0.61
23 0.906 600 200 600 0.80
25 0.875 22 0.06
40 95 0.96 0.98] 600 200 600 0.59 0.61
40 95 0.80 0.95| 600 200 600 0.57 0.87
100 0.92 0.9 500 1200 0.85 0.95
150 315 0.35 800 1100 0.54 0.66
23 0.945 1075 12750.16 0.13
24 0.859 225 375 0.07 0.087
( ) 25 0.043 0.064
28 0.228 225 625 (%0198
100 1000 0.08 0.26 0.032 4
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